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Z FACTORS, MULTIPLES AND PRIMES o
g 7 J
Key Concept ( Key Words \ ( Examples \
. Factor: The numbers which .
~ Factors: fit into a number exactly. Lowest Common Multiple (LCM)
Find these in pairs Multiple: The numbers in Q - Find the LCM of 6 and 7:
12 the times table.
" e i 6 -6, 12, 18, 24, 30, 36,(42) 48, 54, 60, ...
) 6 have only two factors 7-7,14, 21, 28, 35,@ 49, 56, ...
’ which are 1 and itself. LCM =42
3,4 Highest Common Factor:
The highest factor which is
Multiples: Comf;on for both Highest Common Factor (HCF)
. numbers. .
Start Wlth the Lowest Common Multiple: Q - Find the HCF of 18 and 24
number itself The smallest multiple 18 — 1, 2, 39, 18
7-7,14,21, 28, .. which is common to both 24—-1.2.3 4 12. 24
Qjmbers. ) HCF _I6 ? 7 ? 7 7
r A Tip \ /
/E{ hegartgmaths There is only one Questions
Clip Numbers even p.rime number 1) List the first 5 multiples of: a) 7 b) 12 «¢) 50
4.6.10. 26 — 34 Wh'Ch_ is the number 2) List the factors of: a) 12 b) 15 «c¢) 16
. 7 2. This can be used to 3) a) Find the LCM of 5and 7 b) Find the HCF of 20 and 16
help solve lots of
problems. v(Q se(e(e 9T8P‘c'T (@ sT's'e'Tt(a zr9vect(e (¢
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Year 7 Knowledge Organiser
FOUR OPERATIONS WITH INTEGERS & DECIMALS

.
4 Key Words Y4 Examples
Place Value: The value a digit _
takes when placed in a 48 +36=284 258 3 38
particular position of a number. ,—-—-—*"H,-—L 4 15 x 7
48 78 80 84 + 87 56
E‘\ ::' 83 345 28 210
Son Produc 11 17 266
o Times ) —
Al fTo;ef'her Iice 74 — 27 = 47 worked by counting back:
i Multiplied by 3 4 -20
N N~
56 x 27
=3 . N 47 50 54 74
Subtract © X 20 7
Di':?;nr(::ce in:ti't 1 50 | 1000 | 350 | 1350
g iy Goes info 97 6| 120 42| 162
split
L Fotgayers | SR y 3)2 971
1

\ J
~ )
ﬁ.( hegartgmaths Tip Questions

Clip Numbers Multiplication and 1) a) 49+37 b) 125+69 c) 5.6+24.8

addition are associative,

2) a) 64-28 b) 134-57 c) 16.2-9.5
- - k th t
1-22,141-146,47 mangorder . TO0 113) a) 7x146 b) 34x67 )2.9x7.2 4) a)294+7 b)192+6

\_

So 3 x4 isthe same as
4 x 3. e (9 v (e (v 88'0¢ (0 8/rz (9 zzotT (e (g
4 +3isthesameas3+4 L9 (0 ££ (9 9g(e (¢ 7'0E(@ ¥6T (4 98(e (T: SYIMSNY



